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General Instructions :
(i) This question paper contains two parts - A and B.
(ii) Part Ais compulsory for all.

(i) Part B has two options - Analysis of Financial Statements and Computerized

Accounting.
(iv) Attempt only one option of Part B.

(v) All parts of a question should be attempted at one place.
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o uE - &

(|TASHT wHT qUT SwAfTEl & feu eate )

PART - A

(Accounting for Partnership Firms and Companies)

L 40 Sl 1 U THE Uk WRER EH oF FRdl 2 1 o 39 g H argeh ey 1
= Rd ® fF uw el v H geedi &1 aifusdn e & @ geRdt © 991 39
sifufram &1 am foas yEyE & s=id @8 fean T #

A group of 40 people wants to form a partnership firm. They want your advice
regarding the maximum number of persons that can be there in a partnership
firm and the name of the Act under whose provisions it is given.

2, Ui, F U1 AR T FH H GEER S qA3:2: 1% IAE § @9 Fied 91 I L
wwéﬁém%mw.aﬁwwmmﬁﬁwﬁ% R W, F qen

f—ﬁumarzg.ﬁurtafwm

., F, AR, T TH. & T4 AT I BT TOM HIFAC |

P, Q and R were partners in a firm sharing profits in the ratio of 3: 2 : 1. They

1
admitted S as a new partner for gth share in the profits which he acquired

L th from P and - th from Q.
16 16

Calculate new profit sharing ratio of P, Q, R and S.
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3. 2822016 % FUR faffes gm sm&fed fFa T 50,000 oar ofef w2 9fa o 1
I JUH FrEA1 A/ ST A 1 1000 3 F TH GUNF FIGA I 9T AT AR
&1 E T fRA11 750 90 % TH 39 9WE Fifad 7 GUH A=A F WA T 4
yfd sfer &1 O qen sAf<m Fr= fn &1 gmaE o w feEm

FHEIHT Tt AR § SIGT- AT WAl a1 Yaew- Al @il Gierd gu YT ¥=afe
¥ grafud I & fau stevas dsAm=n gfafie sifs)

On 28.2.2016 the first call of T 2 per share became due on 50,000 equity shares
alloted by Kumar Ltd. Komal a holder of 1000 shares did not pay the first
call money. Kovil a holder of 750 shares paid the second and final call of T 4

per share alongwith the first call.

Pass the necessary journal entry for the amount received by opening

calls - in - arrears and calls - in - advance account in the books of the company.

4, ‘OER % fowea’ aur ‘gEer v % fowed’ & uen fanfdw wEy’ % osmum g

T TR S

Distinguish between ‘Dissolution of partnership’ and ‘Dissolution of partnership

firm’ on the basis of ‘Economic Relationship’.

5. ‘FHumieE %9’ §9 % fau srEr Afuftgm, 2013 F TEYE F1 Sea@ SN 1

State the provisions of Companies Act, 2013 for the creation of ‘Debenture

Redemption Reserve’.

6. M AT I UF HH F UEER 9 AU 5: 3 F AW H @9 died 41 31.3.2015 1
%1 AT T AW H 219 7 T 40,000 1 SRV fHAT | IHF SR T AW T 2,000

a1

T2 AMA TC f AERRl #1 i ufedasia off, s s am # fae
stavasd Ustrean gfafe wifem |
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Tom and Harry were partners in a firm sharing profits in the ratio of 5 : 3.
During the year ended 31.3.2015 Tom had withdrawn ¥ 40,000. Interest on
his drawings amounted to ¥ 2,000.

Pass necessary journal entry for charging interest on drawings assuming that
the capitals of the partners were fluctuating.

2.3.2016 I TA. Te 1. faffes 3 T 500 T&F & 635, 9% HOTTH &1 FHIHA
fwan

fre wftfeafadi & smorgsi & fia & foe smevas Osmm=n gfafest iy

(%) w19 FO &1 FET 5% & 9 W fF T a9 s weE 10% ey
T e s R

(@) 59 FOE 1 T 129% & Afeny W fEan T a9 s I 6% &
arfareny W foan S R
On 2.3.2016 L and B Ltd. issued 635, 9% debentures of ¥ 500 each. Pass

necessary journal entries for the issue of debentures in the following
situations :

(a) When debentures were issued at 5% discount, redeemable at 10%
premium.

(b) When debentures were issued at 12% premium, redeemable at 6%
premium.

(i) T 9ERR % 99, (i) T8 SRICR & Ja9 a1 (iii) T AERR 1 STase T80
% Afaftea fosl Tt o= feafadi &1 3eer@ FifSe s/ wH &1 @nfd &1 ToE &6t
HETIHA & Hhell ¢ |

State any three circumstances other than (i) death of a partner, (ii) admission

of a partner and (iii) retirement of a partner when need for valuation of goodwill
of a firm may arise.

3
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%, fafgee 3 91, fafaes &1 7 15,00,000 =1 Frafw=l 991 2 5,00,000 HT STt
o1 IR Z 13,68,500 H foFaT1 % 25,500 &1 ywram 6. fafiee & qa o <1 9
YA 9 U Wasn o5 & gr fon wn qen 9w o . fafies % va f
T 100 Y% & guar {9 &1 friea 25% & sifaeny w e e

ST weAl & foau &, fafies &1 [ ¥ smavas UsHa=n gfafear sifem |

K Ltd. took over the assets of ¥ 15,00,000 and liabilities of ¥ 5,00,000 of
P Ltd. for a purchase consideration of ¥ 13,68,500. ¥ 25,500 were paid by
issuing a promissory note in favour of P Ltd. payvable after two months and
the balance was paid by issue of equity shares of ¥ 100 each at a premium of
25%.

Pass necessary journal entries for the above transactions in the books of K Ltd.

Fagah] w1 USIR YSH HIA &q a9 50 a1 FYER T & aRHen 5 &
fasrma | wera & fau s=ifa o fafres 3 98 © e 9fr wie @ & i
faam w9 e w9 % fau w9 T 10 99 F 8,50,000 HHAT 3T HI
z 3 ufa 1w & Afyeny w frifga & &1 fof fE=m a9t o9 of a6 =
9 ot | 20,00,000 3% F foTw AT I TLI 3,00,000 ¥ F Q. AT *1
T H o T qen 99 SATEH Rl SuIfaE SHR T U w1 e Y fear
T

ST TFeH & {6 FPET 1 TR § AEYEE UsHEET Fiafeal iy qor
TH R 2 gl 1 TREE Rt R ST gEG S Fedt ¢

To provide employment to the youth and to develop Baramula district of
Jammu and Kashmir, Jyoti Power Ltd. decided to setup a power plant. For
raising funds the company decided to issue 8,50,000 equity shares of T 10 each
at a premium of ¥ 3 per share. The whole amount was payable on application.
Applications for 20,00,000 shares were received. Applications for 3,00,000
shares were rejected and shares were alloted to the remaining applicants on
pro - rata basis.

Pass necessary journal entries for the above transactions in the books of the
company and identify any two values which the company wants to propagate.
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11. o™ 1 foees % wH & 9EeR 9 9913 : 2 9 § @19 &ied 91 1.4.2014 4
aﬁﬁﬁww%%ﬁfw%mmaﬁwwmmﬁmsﬁﬂﬁo,ooo
% Yt MRS < TS| faw qen faee w1 A A AU TR S W@ W
SEAT T TRET F HROT gE Tohdt of S w1 A 2: 3 F STUE H g8 i T HEHd
FUI 31.3.2015 i 9O gC a9 H ®H &1 o1 T 9,00,000 AT
31.3.2015 %1 TUTG gC 99 & forg fasmg, fage qon den &1 a@v-2fq fafwEs=

QA T9N Hife |

Vikas and Vivek were partners in a firm sharing profits in the ratio of 3 : 2.

1
On 1.4.2014 they admitted Vandana as a new partner for gth share in the

profits with a guaranteed profit of ¥ 1,50,000. The new profit sharing ratio
between Vivek and Vikas will remain the same but they decided to bear any
deficiency on account of guarantee to Vandana in the ratio 2 : 3. The profit of
the firm for the year ended 31.3.2015 was T 9,00,000.

Prepare Profit and Loss Appropriation Account of Vikas, Vivek and Vandana
for the year ended 31.3.2015.

12. WA, 1Y TU1 TR0 T HH o AERR 9 911 :2: 1% 9@ 4 e dfed &1 4
Y O] TEE Yfdey 31 99 HI S FwAt g1 30 FAamR, 2015 ® Ay H HEE
g 3| fafy #1 SEE ISt W 2 5,000 1 AH 9W SO @Al -
@rd # T 30,000 F1 AW I 411 HH Ht @AM HT HEHHA T 3,80,000 fFAT T
o & a9 § 719 % 19 &1 oA fose ote ouf & aftga @y, ST 90,000 o,

& YR YT I AR |

g F Ao W e w gl B ravges Asrm=n yfafear wifs

Manav, Nath and Narayan were partners in a firm sharing profits in the ratio
of 1:2:1. The firm closes its books on 315t March every year. On 30th
September, 2015 Nath died. On that date his capital account showed a debit
balance of ¥ 5,000. There was a debit balance of ¥ 30,000 in the profit and
loss account. The goodwill of the firm was valued at ¥ 3,80,000. Nath’s share
of profit in the year of his death was to be calculated on the basis of average
profit of last 5 years, which was T 90,000.

Pass necessary journal entries in the books of the firm on Nath’s death.
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13. & A1 9 UF ®Y & 9EER 9 91 3 : 7% 39 § oY afed 91 1.4.2015 6
%1 Rt WH 1 faeed @ A weufEl (g & sifafiea) aen amr Jamet w
TYE W H ARG B % TEEE e e = o R

67/1

(F) T 3,60,000 F Tk TSR 7 T 5,00,000 T FeAifhd HLTH 1 TR L

feram den wd #1 T 1,40,000 F1 TAE FL AT

(@) T 50,000 F TF TH AAGR A T 45,000 YA % ik Hl T & & qol

fraem ?q TR fma

(M) % 90,000 F TF FEY TGN 7 o0 @ & Ui YR G T 45,000 TE T

7 43,000 & f1ow feu)

(%) forsre w7 T 15,000 41

IE AHd gL T A I 9% g1 fee MU ST e el & faw wd i g
Y aervas st gfafes] s |

Lal and Pal were partners in a firm sharing profits in the ratio of 3: 7. On
1.4.2015 their firm was dissolved. After transferring assets (other than cash)
and outsider’s liabilities to realisation account, you are given the following

information :

(a)

(b)

©

(d)

A creditor of T 3,60,000 accepted machinery valued at T 5,00,000 and paid
to the firm ¥ 1,40,000.

A second creditor for T 50,000 accepted stock at T 45,000 in full settlement
of his claim.

A third creditor amounting to ¥ 90,000 accepted ¥ 45,000 in cash and
investments worth ¥ 43,000 in full settlement of his claim.

Loss on dissolution was ¥ 15,000.

Pass necessary journal entries for the above transactions in the books of firm

assuming that all payments were made by cheque.
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14, 3R, TH. G 31, UF FH o TEEE 4 M 1: 2 : 3% 19Q § @9 wieq 4| 6
31.3.2015 ! 3 frafg faaro A g 4 o1 :

31.3.2015 &I 3T, TH. 997 2. &7 frerfa faawor

A ur weafaat N
z z
TTRR 50,000| 4 50,000
7 faa 20,000 | &= 50,000
| "l 30,000 | @iE 1,00,000
bsl % 40,000
31.1,00,000 IR 30,000
TH. 50,000 EED 5,000
. 25,000 |1,75,000
2,75,000 2.75,000

1.4.2015 9 3R, Y. 1 2. 4 a9 S-S T &1 o fFan 9+ fau
g HHga g -

(%) WH &I S0 * Jediawd 2 1,50,000 fwa1 <1 |

(@) 4fft *1 97: geFiwd T 80,000 T A1 W@ q91 997 W 6% HAg TR
S|

(7) T 6,000 % TEER TAT G&A A8 I, 3M@: T= Tqfari@d T fear S
=1feu |

THHEHT W, TRERT % Yol @ qen gaifed wH 1 frafg faawm dan #ifsm
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R, S and T were partners in a firm sharing profits in the ratio of 1: 2 : 3. Their
Balance Sheet as on 31.3.2015 was as follows :

Balance Sheet of R, S and T as on 31.3.2015

Liabilities Amount Assets Amount
i 3

Creditors 50,000|Land 50,000
Bills Payable 20,000|Building 50,000
General Reserve 30,000 (Plant 1,00,000
Capitals : Stock 40,000
R 1,00,000 Debtors 30,000
S 50,000 Bank 5,000

T 25000 14 75000
2,75,000 2,75,000

R, S and T decided to share the profits equally with effect from 1.4.2015. For
this it was agreed that :

(a) Goodwill of the firm be valued at ¥ 1,50,000.
(b) Land be revalued at ¥ 80,000 and building be depreciated by 6%.

(¢) Creditors of ¥ 6,000 were not likely to be claimed and hence be written
off.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance
Sheet of the reconstituted firm.

10
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1.4.2013 & H.9.9. fafes & T 100 T9% & T 1,00,00,000, 10% FOTTH 3T
Of

() 1.4.2014 %1 FAI 7 Gol ISR G TE % 30,000 TGS F HT T 99 Tfa
FOTTH 1 X fF qon 3% g ® T fem

(i) 28.2.2015 T HFA 7 T @Il §RI T 50,00,000 % FOTT31 1 IMET HHIT
T F e

(iii) 31.1.2016 ! ¥ FHBUMT h1 G0 & F & @€ T 19,99,000 H w7 foha
T

FROTTH TT TS AT FOTTH M FIW H GFH H T A g ST el [AC
FIOHT FT YL H avasd UsHmEn gfafeeal wifs

On 1.4.2013 JdJJ Ltd had T 1,00,00,000, 10% Debentures of ¥ 100 each
outstanding.

(i) On 1.4.2014 the company purchased in the open market 30,000 of its own
debentures for ¥ 99 each and cancelled the same immediately.

(i) On 28.2.2015 the company redeemed at par debentures of T 50,00,000 by
draw of a lot.

(iii) On 31.1.2016 the remaining debentures were purchased for immediate
cancellation for ¥ 19,99,000.

Ignoring interest on debentures and debenture redemption reserve, pass
necessary journal entries for the above transactions in the books of the
company.

11 P.T.O.

https://byjus.com

CBSE Class 12 Accountancy Question Paper 2016


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BYJU'S

The Learning App

16.

67/1

TH.%.fafteE 3T 10 8% F 3,20,000 THAT 3190 H T 5 9fd Fw F Afueny w
frifra & &% o emees smmfer fFd ) afr =1 yam 9 wer 3 Fe o

Eed W - T 3 ufa 31w @ 1 gfa 319 safueny wfeq)
& W - T 5 qfa 319 @ 2 9fd 319 sAfyeny |fzga)
gy g <8 I W - 9|

4,00,000 190 & AU &S U W1 40,000 90 F AEGH HI © FL femm wan
qur sTeeE Ui wf| w1 <t | 99 SEEw $ SIS SUR T A9
atEeq fovan a1 etEeA W oyt sfafea aftn #1 wEEieE s w3 ufy
B # o w1 800 ¥ ¥ UN, Sfied A swed U # e fFE qon
I ST A GO TR0 FL e A 3wk wv=r aifw e =/ g oy,
s 2,700 @il & fou smaeq fean o1 9 sfam am=m &1 paE 19w
39 e 1 ot B0 L foran ) e foRd A st | 9 1,500 ST H1Z 8 U
39 ot yed 9 fefes =62 femn ) A foifaa fd w ofel & Sfem & &m
fma T Tt ofw gffag &)

STE el % T HEAT 1 [EARI W SEYIS USHEE1 Hiafear wife |

S fafges 3 2 10 9% & 1,00,000 FHaT A9 &1 T 3 gfq A9 & Hifgam
. fifaa foran < for a8 & @iy €9 o1 Tfae @ wwafya Usm=n wfafest
Fd T $9 W o g T 39 i e @ 9 e
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9.4,

ECIRUE]

2015
SHaE 05

S 17

SHadl 17

wadl 20

......... ™
(1,40,000 2797 & feru ¥ 6 yfa i Hifaam
gfgq smaeq afw wrd ge)

(STEEA T 1 379 Yot e gfasfa

gz @rdi § FEiE, 20,000 379 %
fau v areea ufyn ) St o 9w 6
FHESH $eied W oF ufa | Fife s
1 STele SAuIfds STER 92 fopan )
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fafy feerrm ERR:E =nn;rﬁ1 ST
YAl | qm
(9o e Af=<rm = ufer <)
Y20 | .. g
afad a1 T @A am 3,000
(9o we Af=rm e afdn g *:1)
HE20 | .. Bt
(37 i = &2 fopan T o W v v
Af=m A= I o T g8)
A5 | ™
......... ™ 3.000
(zru-fod T A9 1 1A FiEA)
......... g
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SK Ltd invited applications for issuing 3,20,000 equity shares of T 10 each at

a premium of ¥ 5 per share. The amount was payable as follows :

On application - ¥ 3 per share (including premium ¥ 1 per share)

On allotment - ¥ 5 per share (including premium ¥ 2 per share)

On First and Final Call - Balance.

Applications for 4,00,000 shares were received. Applications for 40,000 shares

were rejected and application money refunded. Shares were alloted on

pro-rata basis to the remaining applicants. Excess money received with

applications was adjusted towards sums due on allotment. Jeevan holding 800

shares failed to pay the allotment money and his shares were immediately

forfeited. Afterwards final call was made, Ganesh who had applied for 2,700

shares failed to pay the final call. His shares were also forfeited. Out of the

forfeited shares 1,500 shares were re-issued at T 8 per share fully paid up. The

re-issued shares included all the forfeited shares of Jeevan.

Pass necessary journal entries for the above transactions in the books of the

company.

OR

BBG Ltd. had issued 1,00,000 equity shares of ¥ 10 each at a premium of T 3

per share payable with application money. While passing the journal entries

related to the issue, some blanks are left. You are required to complete these

blanks.

67/1
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Journal
Debit Credit
Date Particulars L.F.| Amount | Amount
4 4
2015
Jan. 05 |......... Dr.
To.........
(Application money received for 1,40,000
shares @ ¥ 6 per share including premium)
Jan. 17 |Equity Share Application A/c ... Dr.
To.........
To.........
To.........
To.........
(Application money transferred to share capital
account, securities premium account, refunded
for 20,000 shares for rejected applications and
balance adjusted towards money due on
allotment as shares were alloted on pro - rata
basis)
Jan. 17 | Dr.
To.........
(Allotment money due @ ¥ 4 per share)
Feb.20 |............. ... Dr.
To.........
(Balance allotment amount received)
67/1 16
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Debit Credit
Date Particulars L.F.| Amount | Amount
£4 £4
April 1 Dr.
To.........
(First and Final Call money due)
April 20 |...... . Dr.
Calls-in-arrears Alc... Dr.
3,000
To.........
(First and Final Call money received)
May 20 [............... Dr.
To.........
To .........
(Forfeited the shares on which First and Final
Call was not received)
June 15)[|[SIEN S Dr.
Dr.
: 3,000
To.........
(Forfeited shares re-issued)
Dr.
To.........
)
67/1 17 P.T.O.
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TA., TH. 1 U4, U FH & URER 9 qM 3 :2: 1% oH9d § @y died &1 8

31.3.2015 ! 31 feafq faawor f1 gy 4 o1 ¢
31 AT 2015 Hi Tel. TH. 997 TH. =T feafa faawor

et Tfy S RUEl
z Z

EEA 1,68,000| 3% 34,000
H= g9 42,000 [29ER 46,000
st wis 2,20,000
Td. 1,20,000 AREL 60,000
TH. 80,000 AT 20,000
TA. 40,000 | 2,40,000 |9 70,000
4,50,000 4,50,000

Sy fafa #1 7. #1 UE T GRER sAE T a9 9% e fom o
() TAUEUA, 991 30, 1 A A U 2: 22 1 : 1 BRI

(i) H &I BAfd & gedied % 1,80,000 THA1 o1 941 31, SO 9W w1 @A
ey T8 <

(iii) fToEl =1 ISR g4 T 36,000 =11
(iv) T 1 T 58,000 TF ST SR

(v) T 6,000 1 T AR U1 SE1 A HOM 27d: W sferfEa fran smm)
(vi) tﬁﬁﬁww%%w%&ma‘rﬂmﬁmi@ﬁwﬂl
YT W, HERRl F qSt @ qon T wH w fefa foeer dar #ife
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HYAT

., TH. AU h. TH FH b IEGH 9 A5 : 3 : 2 F AW H A Fed 9|
31.3.2015 ! 371 feafq fagago f=1 g 4 o1 :

31 9T9 2015 T 9., T 9T o. o1 Fearfa faewor

S Tfa et It
Z z
a:m'r{ 42,000 qiﬁ:[ GRIRCE 1,24,000
a1 3a” @@ wiw 20,000 |3jez 39 000
Fﬂq*%ﬁ}‘[ EEIGIE 80,000 ‘f\:raQT 38,000
ST R NIEH 24,000
=tF 30,000
. 1,00,000 e 80,000
% 40,000( 2,20,000

% 32,000
3,62,000 3,62,000

I fafer &1 9. 3 AgHm U0 &2 faan aon 9. a1 &, 3 99 o6l W sees
=] e w1 v fema

() wH & =fa F gedied T 1,02,000 fEET AT

(i) wHAE @faqfd 13 8,000 1 TH @1 A1

(iii) S 0N % U WEHE A T 2,000 ¥ FH FIA AT
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(iv) TH. F1T 14,000 F1 TG PFTaM foman ST qon 99 61 THEWR0 356 B0
@ H X fear S et fTam 9r sweR arfus feval § 10% gfqad
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= & 91y foRar S

(v) . T k. %k WA T AT ST 3 : 2 FNT qAT ITR! YSH T @A ST

H 2rft 1 ISt guEeH 9 W) Ees S

T @], 9EER & St @ adn 7w w6 feafa faero daw wifeu

L, M and N were partners in a firm sharing profits in the ratio of 3 : 2 : 1.

Their Balance Sheet on 31.3.2015 was as follows :

Balance Sheet of L, M and N as on 31.3.2015

Liabilities Amount Assets Amount

T 3
Creditors 1,68,000|Bank 34,000
General Reserve 42,000 |Debtors 46,000
Capitals: Stock 2,20,000
L 1,20,000 Investments 60,000
M 80,000 Furniture 20,000
N IS Machinery 70,000
4,50,000 4,50,000

On the above date O was admitted as a new partner and it was decided that :

(i) The new profit sharing ratio between L, M, Nand O willbe 2:2:1: 1.

(i) Goodwill of the firm was valued at ¥ 1,80,000 and O brought his share of

goodwill premium in cash.

https://byjus.com
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(iii) The market value of investments was T 36,000.
(iv) Machinery will be reduced to ¥ 58,000.
(v) A creditor of ¥ 6,000 was not likely to claim the amount and hence was to

be written off.

1
(vi) O will bring proportionate capital so as to give him 3 th share in the profits

of the firm.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance
Sheet of the New Firm.

21 P.T.O.
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OR
J, H and K were partners in a firm sharing profits in the ratioof 5: 3 : 2. On

31.3.2015 their Balance Sheet was as follows :
Balance Sheet of J, H and K as on 31.3.2015

CBSE Class 12 Accountancy Question Paper 2016

Liabilities Amount Assets Aniount
g g
Creditors 42,000|Land and Building 1,24,000
Investment - 20,000 |Motor Vans 40,000
Fluctuation Fund
Profit and Loss 80,000 |Investments 38,000
Account
Capitals : Machinery 24,000
Stock 30,000
J 1,00,000 Debtors 80,000
H 80,000 Less : Provision 6,000
K 40,000| 220,000 74,000
frast 32,000
3,62,000 3,62,000

On the above date H retired and J and K agreed to continue the business on

the following terms :
()

(ii)
(iii)
(iv)

loan account which will be paid in four equal vearly instalments together

with interest @ 10% p.a.

)

capitals will be in their new profit sharing ratio. The capital adjustments

Goodwill of the firm was valued at ¥ 1,02,000.

Provision for bad debts was to be reduced by ¥ 2,000.

will be done by opening current accounts.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet

of the new firm.

22

There was a claim of ¥ 8,000 for workmen’s compensation.

H will be paid ¥ 14,000 in cash and the balance will be transferred in his

The new profit sharing ratio between J and K will be 3 : 2 and their
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| - @
(fa<ita faeon =1 fagergor)

PART - B

(Analysis of Financial Statements)

‘Trhe yarg faawor’ &1 @1 e 1

Give the meaning of ‘Cash Flow Statement’.

‘U 3T iA9fadi TE RN H1 U0, TS AU AR o 3293 W B HFAT R, 1
uHt frafq # 4 q7: fosra & fau sifuveo f63 ™ @@ % wam 20 €)1 A
FYT GE €7 UFg YR T AR FA T 3@ WHR HI farareE § gen
kg warg fFm whr &1 wfafaferll & stwfa avifda foan s

‘An enterprise may hold securities and loans for dealing or trading purpose

in which case they are similar to inventory acquired specifically for resale’. Is
the statement correct ? Cash Flows from such activities will be classified under
which type of activity while preparing Cash Flow Statement ?

(F) ‘wd & g TEF WO F IO FT ATIA FT ARG HLAT q9 BY HT
STeqaTAA TS SRt qteral feufa 1 erqmm e faddta faewoi &
foverou &1 T S2vw T 39 favemw & fE=l € R SEwE o Soo@
EAlE Iy 2+2=4

(@) weET Afafam, 2013 1 G 11 & T wes 7= =0 SFane’ adn
‘o1 =] wEfaE’ % eTia S Seared 2-1 mal i e i)

23 P.T.O.
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(a) One of the objectives of ‘Financial Statement Analysis is to judge the
ability of the firm to repay its debt and assessing the short term as well
as the long term liquidity position of the firm.” State two more objectives
of this analysis.

(b) List any two items that are presented under the head ‘other current
liabilities’ and any two items that are presented under the head ‘other
current assets’ as per schedule III of the Companies Act, 2013.

(%) ‘Torameierar i’ & @ stfvygme €2 2+2=4
(@) = g=1 § g1 (W=h) Ed STI9W 1 T ST

FEEATT § 3P T 16,00,000; 9d T92 (LMF) T 2,20,000; GFa

B 3T 5% |

(a) What is meant by ‘Activity Ratios’ ?

(b) From the following information calculate inventory turnover ratio;
Revenue from operations ¥ 16,00,000; Average Inventory ¥ 2,20,000;
Gross Loss Ratio 5%.

31 A= 2015 %1 FHW gL a8 & fow 77 sfrean fafaes =1 amv—aifq faero 9 4
TFER A § :

T i 31.3.2015 31.3.2014
4 z
FHEHArdl G SH 50,00,000 40,00,000
S RIE 2.,00,000 10,00,000
HHAr fed @v =44 Fd AFH 61 60% | Fa AT & 50%
3= =1 wu=r feqeny =9 | FH=ER1 feqeny ==
F110% 1 20%
HT 50% 40%
24

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BYJU'S

The Learning App

CBSE Class 12 Accountancy Question Paper 2016

T sfrean fafaes &1 siesl-am 79 TSl ®1 IAeA ek HE] faawo 9Rd &
frse &6 § #3921 T TeyE & U2 & #1 aefEdl #1 AmEdtas
Hivtero €9 &1 U IRES o IE # T

e mu ey faern | qerrers eny-wifa faawe dar Fifae o 1@ R
T Al H gean o HifGT 9% Fr g9 & 9 e =

Following is the Statement of Profit and Loss of Moon India Ltd. for the year
ended 315t March 2015.

50%

Particulars Note 31.3.2015 31.3.2014
No. 4 54

Revenue from
operations 50,00,000 40,00,000
Other Incomes 2,00,000 10,00,000
Employee benefit 60% of total 50% of total
expenses Revenue Revenue
Other Expenses 10% of employee 20% of employee

benefit expenses benefit expenses
Tax Rate

40%

The motto of Moon India Ltd. is to produce and distribute green energy in the
backward areas of India. It has also taken up a project of giving vocational
training to the girls belonging to the backward areas of Rajasthan.
You are required to prepare a comparative statement of Profit and Loss of
Moon India Ltd. from the given statement of Profit and Loss and also identify
any two values that the company wishes to convey to the society.

67/1
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23. 31.3.2015 &I TA.TH. fafaee 1 frufs faawn = gor & o .
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T, fafes
31.3.2015 =i feerfa faamor
— T2 |31.3.2015|31.3.2014
g z z
L. GHal qe Fard
(1) Hwery faferar
(31) stw qsit 500,000 4,00,000
() "= e s 1 2,00,000| (50,000)
2) a1 Tgad
e 9 4,50,000| 5,00,000
(3) Enqéﬂaﬁ
(31) TIHRTEAA B 3 1,50,000/ 50,000
(9) TR e 4 70,000| 90,000
£l 13,70,000| 9.90,000
II. gfeefaar
(1) 3=t gfgegfaat
(37) Tt gefaal
) T 5 | 10,03,000| 720,000
(ii) e 6 20,000/ 30,000
(%) 1= faaw 1,00,000| 75,000
(2) =] wfrarafaat
(1) = 7 50,000| 60,000
(9) ¥k (A=) 1,07,000] 45,000
(W) UHs a9 Uhg T 90,000/ 60,000
EXl 13,70,000| 9,90,000
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il & Aed
- P 31.3.2015 | 31.3.2014
z z
(1) |g=m ta snfys (enfasm-env-efa
fereror =1 9m) 2,00,000] (50,000
2,00,000|  (50,000)
2) | Aefepreft =m0
12% SBT3 4,50,000]  5,00,000
4,50,000]  5,00,000
B) | et =
e sifufasd 1,50,000 50,000
1,50,000 50,000
@) |regepred gEeE
L HT JTEHA 70,000 90,000
70,000 90,000
5) [ wfcereafaat
AT 12,03,000)  8,21,000
LCHERRE R (2,00,000)| (1,01,000)
10,03,000|  7,20,000
6) | 7o wfeeefaar
wTfd 20,000 30,000
20,000 30,000
(1) |t (fast & fer =me) 1,07,000 45,000
1,07,000 45,000
sfafiea g=

()  12% OIS HT WA 31.3.2015 I fH=n T
(i) a9 # T 70,000 F PrAA fohan T

UFHE FaE faato dan i |
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Following was the Balance Sheet of M.M. Ltd at on 31.3.2015.

M.M. Ltd.

Balance Sheet as at 31.3.2015

. Note |31.3.2015(31.3.2014
Particulars No. - N
I. Equity and Liabilities
(1) Shareholder's Funds
(a) Share Capital 500,000 400,000
(b) Reserves and Surplus 1 9.00,000| (50,000)
(2) Non-Current Liabilities
Long- term borrowings 2 4,50,000( 5,00,000
(3) Current Liabilities
(a) short-term borrowings 3 1,50,000 50,000
(b) short-term provisions 4 70,000 90,000
- 13,70,000 | 9.90,000
11. Assets
1) Non-Current Assets
(a) Fixed Assets
(i) Tangible 5 10,03,000( 7,20,000
(ii) Intangible (] 20,000 30,000
(b) Non-Current Investments 1,00,000 75,000
2) Current Assets
(a) Current Investments 7 50,000 60,000
(b) Inventories 1,07,000| 45,000
(c) Cash and Cash Equivalents 90,000 60,000
Total 13,70,000 | 9.90,000
28
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Note . 31.3.2015 31.3.2014
No. Particulars z 7
(1) |Reserves and Surplus (Surplus
i.e. Balance in statement of Profit
and Loss)
2,00,000 (50,000)
2,00,000 (50,000)
(2) |Long - term borrowings 12%
Hebenfures 4,50,000]  5,00,000
4,560,000 5,00,000
(3) |Short - term borrowings
Bank overdraft 150,000 50,000
1,50,000 50,000
(4) |Short - term Provisions Provision
for tax 70,000 90,000
70,000 90,000
(5) |Tangible Assets
Machinery 12,03,000 8,21,000
Accumulated Depreciation (2,00,000) (1,01,000)
10,03,000 7,20,000
(6) |Intangible Assets
Goodwill 20,000 30,000
20,000 30,000
(7) |[Inventories
Stock in trade 1,07,000 45,000
1,07,000 45,000

Additional Information :

(1) 12% Debentures were redeemed on 31.3.2015.

(i) Tax ¥ 70,000 was paid during the year.

Prepare Cash Flow Statement.
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Tus - T
( rfrenfers Traa )
PART - B

(Computerized Accounting)

‘ariwe uftwe W (T wreHn mRfea)’ § ffea sl w5 gt s 1

List the steps that are involved in ‘Data Processing Cycle’.

FHFd TR ATFRTI | TEIEA STwel hi A HY H S § 2 1

How is Accounting data computed in a computerized accounting software ?

AGiHA ORI et &1 YA i e GHHE faern’ §AR FH F A0 w1 4
Ie@ HIfey |

State the steps to construct ‘Bank Reconciliation Statement’ using accounting

software tally.

AT oiEiwd § <@l 1 AIH Se-dIg a6 d W] | Fh IEF 81 4
%42

Internal manipulation of records is much easier in computerized accounting

than in manual accounting. How ?

g i yaY gomelt (AT TE.) & fFE 9r i #1 gusEn) 4

Explain any four advantages of Data Based Management System (DBMS).

30
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23. Ufed FAR N GUEEsR B1 A ¥ 389 o9 faq &1 sraem faan S99 6
AT X 15,000 ¥ 1 191 o1 F oW W UES 1 ITEN FIQ €U (F) FAfla g
AqE, (@) T 9w, () 8 fRTEn s qen () 9fieed 9 T e %

3 i

AT

T ¥ FEFR fed - 31 €, FEE 9N AT AqT F 45%, GIERSL L6 &
T TE TR w1 S gE 999 ® 25%, I EAESA WIE % fag 78 feuw
1 G g Adq F1 12%, GUETES LR &1 9fiaed 9w T 2,000 Wi a91 i
YUEESH €% & qfEsd 991 3 1,000 HIEF 2

Rohit Kumar is a non-supervisor. He took leave for half a day during the

month. His basic pay is ¥ 15,000. On the basis of the following information

using Excel, give the formulae to compute, (a) Basic Pay Earned; (b) DA;

(c) House Rent Allowance and (d) Transport Allowance.

Information :

Number of working days in the month are - 31, Rate of D.A. 45% of basic pay,

HRA for supervisory staff is 256% of basic pay, HRA for non-supervisory staff

12% of basic pay. Transport allowance for supervisory staff ¥ 2,000 per month

and transport allowance for non-supervisory staff ¥ 1,000 per month.

67/1
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